KOHEL} KPAHA - ®JTAHLIEBbIN
MONHOMPOXOAHOW HEPA3EOPHbIN
LUAPOBbIV KPAH MEXX®AHLIEBbIV

IT-

11

Mocmaensiemcs nod 3aka3

HEPXABEIOLUAA CTAJlb
08X18H10M2 (DIN 1.4408)
YITIEPOQUCTAS CTAJIb (DIN 1.0619)

*kopnycHble getanu n3 08X18H10M2
*ynnotHeHns ®TOPOIMNACT
*(bnaHey Py 16
*MOHTaxHas nnowaaka 1SO 5211
*aHTUCTaTMYeCKOe YCTPOMCTBO,
nckpobesonacHoe yCTPOMCTBO

YACTHOE MNPEAMNPUATUE

MEﬂbHVIKOBA

http://kran.odessa.ua

ITEM PARTS Q1Y MATERIALS
1 BODY 1 ASTM-A351-CF8M
2 INSERT 1 ASTM-A351-CF8M
3 BALL 1 ASTM-A351-CF8M
4 BALL SEAT 2 15% R-PTFE
5 JOINT GASKET 1 15% R-PTFE
6 STEM 1 AISI 316
7 THRUST WASHER 1 PTFE
8 STEM PACKING 2 PTFE
9 HIGH WASHER 7 AISI 304 [a YA
10 HANDLE 1 AISI 304
11 SPRING WASHER 1 AISI 304 2
12 STEM NUT 2 AISI 304 \®
13 PLASTIC COVER ] PLASTIC /] \@
14
STOP 1 AISI 304 N/ . @ o
— Pl A-A
bar FAHRENHEIT oirs? kgerm? DIMENSIONS UNIT:mm
-58 -22 32 122 212 302 392 482
50 " 725 510 PN16 150 Cv |TORQUE
4 E d|/ L|D| K N/I B | F P |S|S1| X |BL 51(’;” H| W FACTOR| kgf-cm KGS
40 8 5, 580 408 15 | 15| 40 | 95 | 65 |4-M12x1.75| 14 |45 |34.5|17|10.5/6.5| 10 | FO3| 63| 125| 10 58 |1.53
20| 44 | 105| 75 |4-M12x1.75| 14 |58 |38.5|17|10.5/6.5| 10 | FO3| 68| 125| 25 80 |2.07
20 435 306 25 |25| 53 | 115| 85 |4-M12x1.75|14.5| 68 |44.6 |24 |16.5|8.7| 14 | FO4| 81 | 160| 35 108 | 2.72
32 |58.4| 135|100|4-M16x2.0 15|78 | 51 |24(16.5|8.7| 14 | FO4| 87| 160| 46 150 | 3.39
o ok, oo 204 38| 62 | 145|110(4-M16x2.0 [16.5/88 | 55 (29|21 | 10| 16 | FO5| 98| 200| 80 200 |4.05
FbN‘ijszﬂ 50| 72 | 155]125/4-M16x2.0 |17.5(102| 63 |29| 21 | 10| 16 | FO5| 105/ 200| 110 | 300 | 543
PERafinEs \\\ 65 |65 | 94 |185(145/4-M16x2.0 | 18 |122]73.5(36| 26 | 12| 20 | Fo7| 121] 250 310 | 515 [9.20
10 145 102 76| 118200 |160|8-M16x2.0 [19.5|138| 94 |36| 26 | 12|20 | FO7| 153 285| 350 810 |13.70
100 | 96 | 140|220 |180|8-M16x2.0 |19.5(158(105.5|36| 26 | 12 | 20 | FO7| 164| 338| 720 | 1130 |19.30
o o o 125|118]163|250|210|8-M16x2.0 |21.5(188(117.5(57| 40 | 17|27 | F10| 188 405| 1200 | 1500 (28.24
80 780050 100 180 200 250 150138| 182|285 |240|8-M20x2.5 | 22 |212| 130 |57 | 40 | 17| 27 | F10| 198| 460| 1580 | 1800 |39.80

CELSIUS




